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Which one of the following is not a ty'pe of 6
sand dune in Rajasthan?

(A) Thali (B) Barkhan
(C) Parabolic (D) Seif

o # ffeRea § @ P b dIgedT
WY P TFR e 87

(A) orch! (B) Tx@

(C) Yzraifere (D) A%

Dajiya and Chimata are associated w1th
which tribe of Rajasthan?

(A) Meena (B) Bhil

(C) Garasia ‘ (D) Sahariya

aforar 3R fmrar worers @t e St 7.
W wegwEfu 87

(A) A1 (B). st

(C) TRIf¥ (D) wrsfm

Which one of the following (Breed - Animal)
is not matched correctly?

(A) Sanchori - Cattle (B) Mehsana - Buffalo
(C) Sonadi - Sheep (D) Kheri - Goat 8.

ﬁﬁﬁf@ﬁﬁﬁ"ﬁﬂ?ﬂ(ﬂ?ﬁ uy)) guferd
Tﬂ?r%?

@) |~ (B) dgEE — ¥
(€) WA — e D) &9 — FHA

The maximum number of dust storms occur

in May and June in which district of -
Rajasthan?

(A) Jaisalmer (B) Bikaner

(C) Ganganagar (D) Barmer

JoveE A SR §F W waiRe ga W

ariferdt fry Roret # arrel €72

(A) SR (B) TR s
(C) TR (D) arS™®

The Anatolian Plateau is located in -
(A) New Zealand (B) Turkey

(C) Iran (D) France
SATATRT & YR araRed € —
(A) =LATATS H (B) =&t H
(C) &¥H H (D) o=t H

) to India
The two famous painters who cameé -

during Humayun's reign Were -

(A) Mohammad Nazir and Abdus Samad
(B) Sayyid Ali and Abdus Samad

(C) Mohammad Nazir and Sayyid Ali

(D) Mansur and Sayyid Ali

T & wTaeETe # ARd A ae A TS
REeR @ o7

() HEmg AR AT AGEAS o

(B) iug 3rell T SregRIAE m

(C) HEwIE 9N e VIg 37l ‘

(D) AR A1 AT e '

Folk drama Charbait is related to which of
the following cities?

(A) Bharatpur (B) Tonk

(C) Udaipur (D) Alwar

alrpTey TRAT frd WY W Heafta 87?

~(A) HRAR (B) Tid
(C) SagR (D) 3reTer’
Which of the following is a couple dance?
(A) Chari dance (B) Geendar dance

(C) Shankariya dance (D) Mandal dance

frr=iferRa & & ®1F |1 T Td 27
(A) = I (B) *fics g1
(C) ziwRar J (D) Higet T
Who was the architect of Taj Mahal?
(A) Ustad Mansur  (B) Rahim

(C) Ustad Isa (D) Khafi Khan

Qe F ARGHR AT —

(A) SEITE AR (B) 38|

(C) S&ITE T4 (D) WP wf

The musical instrument, which is played in
Kachchi Godi dance is -

(A) Kamayacha (B) Algoja

(C) Jhanjh . (D) Surnaij

-
(A) HrHTET (B) arereiton
(C) =iret (D) TS

-

_—
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The medieval ruler
contributed in the development of Khayal
style of classical music -

(A) Ibrahim Adil Shah"

(B) Firuz Shah Tughlag

. (C) Hussain Shah Shargi

12,

13.

14.

(D) Wajid Ali Shah

maFETEE ad, forad I Wi #
@ Y & e fl SeelRg-I  TATTET
foam —

(A) garfew enfae wmE

(B) fpersr 918 TIeid _

(C) g1 T ¥ R
(D) gIfS7g 3rel WME : E’&

*The Mascot of Tokyo Olympics is -
(A) Panda (B) Suminski
(C) Miraitowa (D) Eagle

S NGifi® HT P & -

(A) urvg] - (B) =T

(C) firrgeiran (D) $71et

In the Pradhan Mantri Krishi Sinchai Yojana
- Micro Irrigation (PMKSY-MI) the funding
pattern with respect to centre : state is -

(A) 50:50 (B) 80:20

(C) 60:40 . (D) 70:30

e i Riad Ao - g R @
faer dwor &7 ted o I B weu R -
(A) 50:50 (B) 80:20

(€) 60:40 (D) 70:30

As per Agricultural Census 2015-16 total
number of male operational land holdings in
Rajasthan is- .
(A) 7.75 Lakhs
(C) 68.66 Lakhs

(B) 196.6 Lakhs
(D) 6.86 Lakhs

ISR X157 # HY TOFT 2015-16 F IFTAR
T gTY yaIferd wrdl Bl 6§ -

who - significantly

15. The Headquarters of Merwara Battalion

16.

17.

18.

formed in 1822 was -
(A) Jahazpur
(C) Beawar

(B) Nasirabad
(D) Deoli

18228, ‘?T%Hrmﬁﬂ Wi%m?ftﬁrg@nm
.\_ﬂ'_

(A) STETSYR
(C) &grax

(B) TRiRTaTE

(D) gqelt

The highest peak in Rocky Mountains is -
(A) Mt. Hood (B) Elbert

(C) Blanca (D) Robson

i1 gddi P walea A & —
(A) Arave &8 (B) Yeae
(C) i (D) a9+

The 'S’ shaped oceanic ridge is -
(A) Prince Edward Ridge

(B) Mid Atlantic Ridge

(C) Socotra Ridge

(D) Eastern Pacific Ridge

'S' BN BT TETHRIT FTP & —

(A) O vsas Fed

(B) ez 3feelified dedh

(C) W= FHeh '

(D) qdi wer=i Hed

Which- one of the following (Tropical
Cycloné - Affecting Area) is not correctly
matched?

(A) Hurricane - Atlantic Ocean

(B) Typhoon - Western Pacific Ocean

(€) Cyclone - Indian Ocean |

(D) Willy-Willies - South €hina Sea

" RyfaRad § O @i (ST Biea dhard

(A) 7.75 &g (B) 196.6 ¥I"g
(9) 68.66 <1 (D) 686 &9
106-A U
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— gifac &) we gafera & 87
(A) R — Ieaited HERIR

(B) erawA — U¥THl FId HERR
(C) =igFaTd / REdH — 7 HRrnR
(D) feh=faciar — <féwr 99 W
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18. ‘Vande Bharat Mission’ is related to -

(A) send astronomers on moon
(®) bring back Indian nationals stranded in

foreign countries  during  Covid
pandemic

(C) provide subsistence allowance to aged
women

(D) make compulsory recitation of Vande
Mataram in all the theatres

T YRa A Getg & —

(A) T=7 W SiaRer ar Yo ¥ :
B) FIfTe 7w & Sww e B
L RS @ it e @ :

©) gt wfRermsit o1 ToRT wor 23 ¥
) ¥ar Rt § & HIORH ™ &y

AR 99 :
‘Abhanga’ means - .

(A) clothes worn by the Saints
Maharashtra Dharma

(B) A_.C%on:i " por Iy euica 2d to Vithoba
(C) . ~sidence o dhakt Saint

(D) literat re of | ‘rgul a Sa, 'ts

T BT A § —

(A) 7ERTS o & Wl gRT UsY MU 9w

(B) fastar &1 Wi Wiy e

(C) #faT wal & smarg

(D) fjor Wt &1 wrfRey _

How many urban local bodies have been
declared open defecation free under
Swachh Bharat Mission (Urban) Phase-1?
(A) 3258 (B) 3974

(C) 4324 (D) 2876

20.

21,

e ARG e (wEd) wRu-1 @ siafa
ot ) e et ) et ¥ e
wifit o 2
(A) 3258 (B) 3974
(C) 4324 (D) 2876

22. 'Furious Fifties’ winds are associated with -
(A) westerly winds ~ (B) tropical cyclones

(C) polar winds (D) trade winds

IR TATH e wafera § —

'of :

23. Which one of the following [.TOPg?graphy
Location) is not correctly matchea? .
(A) Bhorat Plateau - Kumbhalgar
Gogunda
(B) Bhakar - East Sirohi
(€) Ramgarh hill - Rajsamand
(@) Girwa - Udaipur

Pretferfee 4 4 ) w (eerempfey — raRef)
;}'ﬂ) RIS 43R — FETATE H T[T
P wraw - ECIREKIET
) XTe vrry — o=
<) firzar — ITIR
4-ahe Sea of Marmara connects -
(A) the Black Sea and Aegean Sea
+{B) the Black Sea and Mediterranean Sea
-£L) the Caspian Sea and Azov Sea
‘ ) the Black Sea and Caspian Sea

e

© v AR e ]
L)imemar ek B = v 7

) T HR T 9 e an g

(C) HRITT IR iR arsg G W=y

D) T AR 3R BRum v @
25.00n  whose recommendation Abu and

cDilwara Tehsil were merged in Rajasthan?
) Fazal Ali

f-;}_B) Gokul Bhai Bhatt N
¢df) Gurumukh Nihal Singh
EP} Sardar Vallabh Bhai Pate]

2

fraaT RERe & s SIERER T E!
2 BT ISR § AT TRy o
[A) BoTer 3rell
‘ﬁt) T W
i, g
:} ) MR TET Rig
(dD) TRER Tqear¥ WIg o
ad
25-‘-.. The first solar power plant under the

PM-KUSUM Scheme has been set up in India
th E I

(A) Pinan, Alwar

(B) Bhaloj, Jaipur
(C) Balesar, Jodhpur

(D) Deolia,]odhpur,

HTHA- B AT B qEe e ¥ ggen

(A) TgaT U & (B) Swi wfeddiy IR ot 23 et Ry g
) Fghardt | {A)W‘Wﬁl (B)ﬂmaﬁ,wﬁ
(©) gda we i ¥ (D) wpuRe v W (©) arerm, gz ¥ (D)mﬂ‘%’ﬁ_
"_1-0_6.-_A D - Page 4 of 16 | e S



27. Which tree is called the ‘Flame of the Forest"

28.

29,

in Rajasthan?
(A) Mahua
(B) Khejri

e

(C) Palash ' ap)
(D) Dhokra E
C\]

N

mmﬂmqfwﬁﬂiﬂsfﬁ‘mvafﬁ:mv
v m@

\_...

(A) Hgamm

(B) @wr i

(C) wereT , :5.3

(D) et E’E}
s

Which one of the following (Biosphé&re
Reserve Area - State) is not matc
correctly?

(A) Nokrek - Meghalaya

i

(B) Manas - Assam f—-;—;
(C) Cold desert - Himachal Pradesh g
(D) Agasthyamalai - Karnataka N
. i

5

ﬁﬁﬁfﬁaﬁﬁ-ﬁﬁ'—rw(@wv%ﬁug?@
&3 — oY) Her gAfera g 87

(A) q1¥es — HHT™

" r'

30. Match List -

(B) A — a1e B oo
(©) s sy — R ST 5
(D) SIS — FAfcd by
Which of the following (Ruler - Paintihg
Style) is not correctly matched? E &
(A) Anoop Singh - Bikaner
- (B) Raj Singh | - Nathdwara
(C) Sawant Singh - Kishangarh
(D) Vijay Singh - Deogarh -
frfofae % 4 @@ @1 (@as — foEdar
¥ef) weT gafera #&i 27
(A) arufiie — R
(B) Rroif¥fe 1 — wmergm
(C) wrdafie — fraerre
(D) Rsrafig — 2ame
106-A D Page 5 of 16

I with List - Il and select the
correctanswer using the code given below -

List - 1 (Animal Fair)
1 Veer Tejaji

2 Shivratri
3 Chandrabhaga
4 Mallinath
t-
(i) Barmer
(ii) Bharatpur
(iii) Parbatsar.
(iv) Jhalrapatan
Code -
(A) 1-(iii), 2-(ii), 3-(iv), 4-(i)
(B) 1-(i), 2-(ii), 3-(iv), 4-(iii)
(©) 1-(i),.2-(iii), 3-(iv), 4-(ii)
(D) 1-(iii), 2-(i), 3-(iv), 4-(ii)

A1 BT GA-11 A fFem By qen =
I%QW?HEWW PP Hal S BT aa
BT —
A1 (g )
1 IR TSty
2 Rty
3 TRHENN
4 HeollArg
(i) R
(if) ¥R
(iii) URETER _
(iv) SATeRM™IREA
wE - R
(A) 1-(iii), 2-(ii), 3-(iv), 4-(i)
(B) 1-(i), 2-(ii), 3-(iv), 4-(iii)
(©) 1-(i), 2-(ii), 3-(iv), 4-(ii)
(D) 1-(iif), 2-(i), 3-(iv), 4-(ii)
Which of the following (Book - Author) is
correctly matched?
(A) India Divided - Maulana Azad
(B) India Wins Freedom - Rajendra Prasad
(C) Indian Struggle - Subhas Chandra Bose
(D) Unhappy India - Jawahar Lal Nehru

ferrferfaa § @ @19 w1 (g —
ferd €7

(A) sfre FagSs — HArn e
(B) gfoear fa=a wiew — IR WS
(C) gfveusT Tl — PV a7 a1
(D) ayru) gfsar — STaTEY o RS

el®) e




32. ar.

dialect of Bhil tribe?

(A) Wagdi (B) Dingal

(C) Ahirwati (D) Nimadi
fﬁ'ﬂﬁ-‘-{#ﬁ?ﬂa’lﬁ’lﬁﬂﬁﬂ’iqﬁaﬁﬁﬂﬂ |
qR?

(A) grrgt (B) f&re

(C) srERarA) (D) )

33. Mirzai, Dutai and Dagla are the types of -
(A) Turbans (B) Lahariyas
(C) Angarakhis (D) Dhotis
ReE, 308 ik sTen P THR &7
(A) Tt B (B) orefar
(©) = & (D) &rcft &

34. As compared to 2001, the sex ratio in urban
regions of Rajasthan as per census 20 11, has
been improved by how many females per
1000 males?

(A) 18 (B) 24

(©) 21 (D) 12
2001 %1 Gerell ¥, 2011 3 SR & SER,
RIS & <7 &t # fofemama wfy 1000
gosl W e At @ ger 27

() 18 (B) 24

© 21 (B) 12

35. Kamala and llaichi are the foremost women

painters of which school of painting?

(A) Bundi (B) Nathdwara

(C) Kishangarh (D) Jodhpur »
FAAT AR gARA fBa fmman S @)
JUTTUa Higddl fgmAdn §7

(A) g (B) 12z

(C) fFHermre (D) Gy

36. The Department of Tourism in Rajasthan

was established in -

(A) 1956 (B) 1954
- (C) 1952 (D) 1958

T # uded faurn @ e gg o -
(A) 1956H (B) 1954 4

(€) 1952 % (D) 19584

106—AD Page 6 of 16

Which dialect did Grierson also call as

Match List - | with List - [l and select correct

answer using the code given below -
List - I (Saint)

[. . Ramanuja

[I. Madhvacharya

III. Nimbarka

IV. Vallabhacharya
List — II (Sect)

(a) Shuddhadvaita

(b) Dvaitadvaita

(c) Vishishtadvaita

(d) Dvaita

Code- _

(A) I-(c), 11~ (d), 1l - (b), IV - (a)

(B) I-(d), 11-(c), 1 - (b), IV - (a)

(©) 1= (a), U~ (b), I - (c), IV - (d)

(B) I~ (c), 11 - (b), 111 = (d), IV - (a)

-1 BT -1 @ fam Fife g #my
f&T ¢ g &1 SuInT FRe TE I @1 T

- i - |

| AL (s

B PR 1 5 55

I ArEER

. e

IV. doovqr=m]
-1l (F9ER)

(a) gemEd

(b) &dmgd

(c) faRrerdq

(d) g9

ﬁ’zc_.

(A)I—[c], I1-(d), lII~(b].1V—[a]

(B) I-(d), 11~ (¢), 111 - (b), IV-(a)

(€)1~ (), 11~ (b), 111 - (c). IV - ()

®) 1-(c), 11- (b), 11l - (d), IV - (a)

The new name given to

oo

the lndustry )
Department by Rajasthan Government s -

(A) Industry and Co-operative Dep
(B) Industry and Technology pe
(€©) Commerce Depar

artment

Partment
tment

(B) Industry and ¢ -
Y and Commerce Depdl'tment

RUSTAS S [ R R Y R
dqelby ¥ fay &
(A) Gl ol weaiReg fvmr
(B) SN o arapviyasy ey
(©) anforsy ey '
(D) ST U5 anforery fowmy

ﬁwzﬂww

e ——
F i

o —
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40.

106-A 0

- (3) Sukari

The correct increasing order of the
following three districts of Rajasthan with
minimum population (as per census-2011)
is -

(A) Sirohi > Pratapgarh > Jaisalmer

(B) Jaisalmer > Sirohi > Pratapgarh

(C) Jaisalmer > Pratapgarh > Sirohi

(D) Pratapgarh > Sirohi > Jaisalmer

RO A S are Pt
@ et &1 wé g F9 (Seen-2011 @
FTER) ® - |
(A) RRIET > gaTe > SRIaR
(B) SerR > RIRIE > yamre
(C) IR > JaATTTE > RRIE

(D) waTyTe > RRIE > Senw

If we travel along the Luni River from its
origin to the end, in which order would we

find its tributaries?
(1) Jawai
(2) Bandi

_ o
(4) Guhiya E
Code -
(R) 3,2,1,4
(B)4,2,3,1
€ 1,234
(D) 4,3,2,1

A & ot 7 & N e S ¥ ofd

T =1 &4 €, T 89 SH qEd Al
@1 fosy | H e
(1) wrarg

(2) amwg

(3) y==t

4) Tfean

aza._

(A)3,2,1,4

(8 4,2,3,1
©1,2,3,4

() 4,3,2,1

41.

42,

Page 7 of 16

Answer the question based on the set of -
numbers given below -

429 738 273 894 156

If the positions of the first two digits in each
number are reversed, then the difference
between the first digit of the greatest
number as well as of the lowest number is
equal to -

(A) 5
®) 6 -
©) 4
(D) 7

9 oy WU Hensi & wgeE Wiy
U B I QIRTT —

429 738 273 894 156

gfe yAd A= & YA A AP B oW
TRR qed [5aT ST 8, 91 9ew a9 |
B YU P AN Gad B GE&T D TUH AP
BT SR R/ & —

(A) 5

. B)6
- (C) 4

D7

In a certain code, DEAF is written as 3587

and FILE is written as 7465. How is IDEAL
written in that code?

(A) 63648
(B) 63854
(C) 43586
(D) 43568 .

ve a9l B8 #, DEAF @) 3587 @ € aan

FILE &7 7465 ferar irar € 39 & (919)
¥ IDEAL ®1 &3 foreis?

(A) 63648

(B) 63854

(€) 43586

(D) 43568



43.

45.

Here, a statement is followed by some
conclusions. Choose the conclusion which
logically follows from the given statement -
Statement : Most of the teachers are

o .
h{)llﬁ?'{. Rekha is honest.
Conclusion: =3
(A) Rekhaisa t&{ er.

i &
(B) Those whogare not honest are not
teachers. =~

(©) You can onli-geneﬁt by being honest.
(D) Some teachersare not honest.

T, T du G uvE gu fred Ry g
g 98 frepd gAY o Tfds wu & Ry 1y

; -

for=nv - O

(A) @1 U ST © |
(B) ST $uER 8l & A snaTe TE &

(C) 31y SHHFER &P} & o9 Sl Tdhd & |
(D) FB sfear® GHER & |

A cube is painte@ion all its faces and it is cut

into 64 idenﬁ%l smaller .cubes. The
difference betyween number of smaller

cubes which a@ainte_d on one face and
two faces, is -

(A) 8
©) 12

mE

(B) 4
D)o

E

64 T THM T H Prer o &1 U
FdAd U4 G [ 9X 3 9Tl B, "4 @F
HyT BT Y

(A) 8 O (B)4

(C) 12 — 49).0

Arrange the following words as found in the
dictionary, now what will be the fourth
letter from the left in the last word?
INTIMATION, INFORMATION, INTEREST,
INTERROGATION, INSTIGATION

(A)'T (B) 1

(C) R (@) 0

fopt wreaf @7 fedmd & g o @ wH A
arafterd Fifore, o aifsm vz | ardi o 4
HTeIT AR AT ETT?

INTIMATION, INFORMATION, INTEREST,
INTERROGATION, INSTIGATION

(AT . (B) 1]

(C) R (D) 0

106-A

48.

46. Fill in the missing value ~

47.

(A) 5 (B) 1
(©) 4 (D) 3
I AT BT W —

(A) 5 -
(C) 4

In the following figure number of triangles
are -

| /&%\

wE T B ) BIPT BT T AT 0 W

" (A 20 (B) 17
(C) 19 (D) 18
ot for i Pnqetl @1 Wem € —

\

(A) 20 (B) 17

(©) 19 (D) 18

A is the son of B. C is sister of B. C has son D
and daughter E. F is the maternal uncle of D,
How many nephews does F have?

(A) 1 (B) 3

(© 0 (D) 2

A B ®1 Y3 R1C B
3k 4ol E&| F, D
Heflol / Mror 2

(A) 1

©o

P BT B C & 3 D
DTHAMT B F & freay

(B) 3
| (D) 2

Page 8 of 16



49.

51.

P, Q R‘E‘“d S are to be Seated in a row. ButR
and S cannot be together, Also, Q can;lot be

at the third place, the .
. ’ n
following must be false? which of the

(A) P is at the second place
(B) P is at the third place
(C) P is at the fourth place
(D) P is at the first place

P,Q,R 3R S & T ufg 3
R 3R SUF WY 78 I3 woray
w® A T8 B "Wea, ar fne
e BET ATMRY?

(A) P fgdha = wr R

(B) P il ¥ wR #

©) P =g W W & Eé‘

(D) P W W9 TR §

Read the following information carefully to
answer the question given below-

(i) PxQmeans P is brother of Q

(ii) P + Q means Q is mother of P

(iii) P - Q means Q is sister of P

(iv) P+~ Q means P is father of Q

Which of the following means T is nephew
of R?

(A) Rx]+TxK
©T+]-P+R

fFrefoRad WHeRT BT SaMYdd Tghy A
fau we @1 9TR AR —

(i) Px QT aef 8 P, Q&I Wi ¥

(i) P+ QT aref & Q, P AEwll ¥

(ili) P- Q&7 312f ¥ Q, P& ¥ & |

(iv) P+ QT aref & P,Qa fAarehl 2|
frefaRaa § & fhaer af &8 & TR @
e 87 '

(A) Rx]+TxK (B)R-M+T-]

© T+]-P+R D) pxJ+T-R

If two circles (x=1)2 +(y-3)*=r* and
Xt +y2-8x+2y+8=0 intersect in two

o B W
| QiR I
H ¥ B

(B)R-M+T-]
@) PxJ+T-R

~ distinct points, then-

{B) r=2
D)2<r<8

(A)r <2
©r>2

R o gm (x-1)°+(-3)
Xt +y2-8x+2y+8=0
R yRrese Fvd 8 d —
(A)r <2 B)r=2

© r>2 D)2<r<8

2=r? oMl

L A

106-A

21 fari—firr famgelt

F e B ] -
NS AT A
T v |

[1
J

1 &7

o
ATy 4

AN A ATA
L A e

[

=

AL :':..’“,5’:- A .r:, i

RN v b

AN

R I U L

4TS A& TR A T A

-

52.

5X

54.

55.
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- (A) 4

1 f 1-5inB |
The value of |72 1S -

(A) tan 6 (B) sec g
(C) secO +tan® (D) sec 6 - tan 6

1 - sin®

e

1 +sin@

(A) tan 6 (B) sec O

(C) secO+tan® (D) sec@-tan®

If the selling price of 16 items is equal to the
cost price of 20 items, then profit or loss

P A B —

© percentis =

(B) 20% Loss
(D) 25% Profit

(A) 25% Loss
(C) 20% Profit

afE 16 %l &1 faspa Heu, 20 aegelt & w7

| qew & SRR B, A1 @ ar i gfererd 7 -

(A) 25% =1 (B) 20% &1
(C) 20% =™ (D) 25% <™

The probability of a shooter hitting a target
is 0.75. How many minimum number of
times must he/she fire so that the

" probability of hitting the target at least once

is more than 0.99?
(A) 4
(€) 3

P FrEmE & deg—9ed @1 gl 0.75
£ .98 o9 q P9 b IR el F@N
6T BT B QA P TP IR WEA DI WIASdl
0.99 ¥ 3IfRrF &7

(B) 2
(D) 1

(®) 2
© 3 0 1

In an office, g of total employees are females

and rest are males. If % part of females and i

part of males are absent, then what part of
total employees are absent?

(A) 1% hart (B) 1
5 part gpart

2
(D) 23

art
30 p

€) ~
) — part

g e 3, et SRl FT = JN Hger
# qor 9 oy ¥ | A AT BT S AT
HuT B ll*TI’Jr argRRerd &, @ el HHARET
1 I N SF[uRerd 87 '

(A) ﬂu”ﬂ (B_, l—?'*TPT
30 29
(C) L v (D) -23% HIT

30




56.

a R & g W& @ 2
(A)ﬁgﬁ:[ ' (B)giﬁ.—.r
© 102 e ®) g1

57. If a, b, c are in arithmetic progression and
X, ¥,z are in geometric progression, then the
value of );b‘c . o z.a‘b_ is equal to-
®o ®1
(C) xaybze (D) xyz
I a, b, c wERER Sl A RS x,y,z‘jl;ﬂ'x;-l?
£ofl & &, A1 xPC yoa z2a-b g H qryEw 2 ;
(A) 0 B) 1
(C) xaybze (B) xyz

8. Suppose V=2i+j—kandw=1+3k If
U is unit vector, then the maximum value of
scalar triple product [d ?Vv';] is -
(A) V10 + /6 ®) V59
(€) -1 () /g
AT V=214+]-k 3R W=i43k afr g
UF PR WRA B A afew e wqum
[UV W] & sfegmad 519 & — |
(A) 10 + 6 ®) V59
(©) -1 () 6

106-A J

X’ can complete a work in 14 days and ‘Y’ can

complete in 21 days. They begin together but
3 days before the completion of the work, X’
leaves off. What is the tota) number of d
complete the work? ' '

(A) ¢ % days

aysto

®) 92 days

©) 102 days ®) 82 days

‘x’waﬂﬁ_ﬁmﬁ?ﬁﬁw‘v’?ﬂﬁuﬁﬂ
QR FHA ¥ SN W Rer o
TR TG &, WY B Of 89 @ 3 R el
X &R B <A 8 | B Y g 81 F oy

59,

60.

61.
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What is the unit digit in product of
(4387)2%5 x (621)7%7 ;

(A) 7

(€) 2

(B) 5
D) 1

(4387)%45 x (621)"2 7] AUTHA 4 gHTg 3%

T 27

(A) 7 (B) 5
-(C) 2 - (D).1
The value of 12+ 32+ 52 + 72+ ....... + 19%is -
(A) 1430 (B) 1230
(C) 1530

(D) 1330

124325520720 +192 &1 79 & —
(A) 1430 (B) 1230
(C) 1530 (D) 1330

Read the statements carefully -

I - The Governor shall declare that he

~ reserves the Bill for the consideration of
the President. [Article-200]

II -'The President may direct the Governor
to return the Bill to the house.
[Article-201]

Which of the following option is correct?

(A) Only statement I is correct.

~ (B) Only statement I1 is correct.

(C) Both statements [ & I are correct,
(D) Both statements ['& I] are incorrect,

o g o -

I~Wuguﬁﬁa$%m%agﬁmc BT

(argee—200)
ll—Wqﬁf,WTaaﬁugﬁémemﬁﬁ
® RS B weq gy AT 2
(@rgee-201) '
Pt & 9 a1 Ry TR 27
W) Ba B 1w
(B)fﬁﬁﬂﬂiﬁﬂllﬁé‘[%i E&j‘
(C)mziuaﬁfm;fm%l
(D)It,'ﬁllaﬁfa;a:rmgl



62

63.

64.

Extension of Scheduled Area Act- 1996 is
related to -

(A) Education
(B) Panchayat Raj Empowerﬁent
(C) Cultural development

(D) Extension of reseryat; on area

aﬂﬁﬁﬁ%ﬁmﬂﬁ?ﬁr&q 1996 T Tr=]

-

(A) e

(B) THATAT TS HeTaRfrapoy

(©) witpfid fawm

(D) 3RETOT &7 ¥ fvaR ,

How many general elect.ions of Rajasthan

Legislative Assembly have been held tlll
20187

(A) 14 R
(B) 16 ﬁ
(© 15 <
® 13

2018 T Yo fTTeMT & fhem am
AT G B gD 87

(A) 14 '

(B) 16

(€) 15

D) 13 .

In  which year the District
Development Agency (DRDA) has been
merged with Zila - Parishad in Rajasthan?
(A) 2003

(B) 2008

(€) 2005

(0) 2001

TorE § fpg ¥ faen gror e
oy (GoRE1Y.) @ faer forem aReg ¥
fear T 87

(A) 2003

(B) 2008

(©) 2005

(0) 2001

106-A O

Rural

65. Who among the following Chief Minister

66.

67.

had to resign after the Deeg shootout and
when did he resign? '

(A) Shiv Charan Mathur ; Feb 23rd 1985

(B) Jagannath Pahadia ; July 13th, 1981

(C) Haridev Joshi ; Jan. 20th, 1988

(D) Mohan Lal Sukhadia ; Feb 16th, 1980

fop=r # 9 fo TRem @) i — Mefiie @
fear?
(A) Rrg ==oT #IYR ; 23 ®eadl, 1985

* (B) We1=Tr UEIfEAT ; 13 Ferrs, 1981

(C) gRda ot ; 20 Ta<l, 1988

(D) st et gaEmsan ; 16 was), 1980
To whom does the Lokayukta present the
annual report in Rajasthan?

(A) President

(B) Chief Minister
(C) High Court
(D) Governor

o ¥ R e gREe e
TR e 87 -

(A) Trzafey

(8) wemE

(C) Ia =TT
(D) ITRTYTS

Howmany times the elections of Panchayati

. Raj Institutions have been held till the year

20207

(A) Nine times
(B) Ten times

(C) Five times

(D) Eleven times

af 2020 @ ORI N UARERTST SR
@ forg fralt IR gTa st fdg TR
(A) 9 4R

(B) 10 4N

(C) 5 4R

(D) 11 4R
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68.

69.

106-A 0

Which of the fo]lowing statement is/are

correct about the Rajasthan State Women
Commission?

(i) The chairperson and members are
appointed by the Governor.

(ii) The commission was formed on 15 May,
1999.

(1ii) It is a non-constitutional and advisory
body.

(iv) Its function is to hear and investigate

complaints related to harassment of
women.

(A) i, ii, iii
(B) ii, iii, iv
© i i
(D) i, ij, iii, iv

UORIE N AR N @ wey Y

T /DAY BUAF T & /F?

(i) ST & swaeT 9 el & Fryf
YT & # | .

(i) AT &7 TS9 15 A, 1999 B &I |

(iii) T RN T e e 8

(iv) 3961 &4 -Hfigen Sofed ¥ wafa
Rreprad A1 T SHPT Wi B &1

(A) i, ii, iii

(B) ii, iii, iv

€)1, ii

(D) §, i, iii, iv

In which Article of Indian Constitution the
definition of “Gram Sabha” is mentioned?
(A) Article - 243C

(B) Article - 243

(C) Article - 243A

(D) Article - 243B

HRAT AT & 19 srgaga d U Al
&1 gfwmn 27

(A) sg=e — 2437

(B) argeoe — 243

kc) IqTWE — 243 F

(D) a8 — 2439

*70. Where. is the Rajasthan Civil SeI"ViCeS

R
(N

72,
=

Appellate tribunal located?
(A) Jodhpur

(B) Bikaner

(C) Jaipur

(D) Bharatpur

Trorer Rifier Jrar ardret 3IfERYT Haf Rerg
27
(A) STeTgR

(B) draTe -
(©) TR &
(D) ¥=TYR

In context of flow chart symbols, choose an
invalid pair -

(A) Rhombus, Decision

(B) Triangle, Terminal

©) Rectangle, Processing

(D) Parallelogram, Input / Output

gelraTe el & Hed ¥, i g &1 5

HIfSTg —

 (A) FETgs, R

(B) rnye, <fifer
(C) 3y, urafyr

(D) TR TP, IS / J_eye

Let the currently selected/active MS Excel

cell is M130, on pressing “Home” button on

keyboard, selection will move to which of
the following cell?

(A) A130
(B) M1

-(C) A1

(D) No movements

IR N AN R T R e s, o
el M130 R, B1-a1¢ w2 ge 9N
AU B0 QR qe w e SeT? |
(A) A130

(B) M1

(C) A1

(D) DI THARTHT

Page 12 of 16
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3. In which generatijq

T (A) First ™ trans
(B) Fourth
(C) Second
(D) Third

Istor was used?

-

e N & gifdrey :
e BT WINT 3§ Sy err?
(B) g2t
(©) feg
(D) i
7. Ina PowerPoint presentatiop -

(A) Both sound clips and movie clips can be
inserted

(B) Sound clips cannot be inserted

~ (€) Neither sound clips nor movie clips can
be inserted :

(D) Movie clips cannot be inserted

TR T TRRAPROT F —

(A) ey e &R Tafs fes g9 yfie
FY THA &

B) eafy e ufae & ) Faa

€)= a1 @ 71 & gars e ufawe &=
b &

(D) =erfer forerow wfaee &l Y e

5. Which of the following is not a type of hard
disk? : '
(A) Winchester (B) Disk Pack
(C) Shockley (D) Bernoulli
?ﬂﬁﬁaﬁa—wa@mwwmqﬁ
?
(A) faorex (B) fexm ped
(C) wifemett (D) et |
7, Which language is being used as the basis
for the Japanese fifth generation
computers?
) ALGOL (B) COBOL
©c (D) PROLOG

IR G oo weed @ fog s AT
B R % qee vdr § foran of <l €7
(&) ALGOL (B) COBOL

©) ¢ (D) PROLOG

Page13of16
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77. In context of Internet news FLi 0] ¢

79.

deals with rules of framing messages that
will not hurt others.
(A) telnet (B) netiquette

(C) web server (D) net neutrality

greie 9 qR B wed Ho
ot mﬁm 2

(B) eorFE (B) #dIehe
(C) 4 — W (D) ~e =ggiferet
. When was v-a‘cuum tube invented?

(A) 1900 (B) 1910

(C) 1880 (D) 1906

Yo egE FT AR B fHar 7417
(8) 1900 (B) 1910

(C) 1880 (D) 1906

Which of the following produces the best
quality graphics reproduction?

(A) Dot matrix (B) Plotter
printer

(C) Inkjet printer (D) Laser printer

e § § BT gad Si O FT ATfhad
Refleda Swifed $aT &7

(A) e Afze ey (B) wifex

(C) Epute e (D) iR fiex

. In context of MS Word-2019, keystroke
~“Ctrl + Shift + F5" is related to -

(A) mail marge (B) macros

(C) bookmarks (D) footnote

oy, 982019 & wWed A PRI
il + Shift + F5" wwaftyd @ —

(B) {spIt W

(D) gere

NECEE R
(C) gl a




Out of the following proverbs, which one is

81. One whose only motive i - is : 86.
(A) Spendthrift' FB]}S\T'_Z;;;:;ZD“B}” correctly framed or does not have any error
(C) Extravagant (D) Mercenary in its form :
82. Select the correct sentence from the given (A) As you 'SOW’_YOU shal SG! reap
options which rightly transforms the Direct b
speech sentence in reported speech - (C) Birds of feathers together flock
Sentence: She said to me, “I thought I heard . (D) Make hay while the sun shines
you coming down the stairs”. 87. Match the items in column’ (A) with
(A) She told me I thought she had heard me appropriate items in column (B) so as to
coming down the stairs. form meaningful sentences :
(8) She told me she thought she had heard Column- (4)
me coming down the stairs. (2] Iryol had tried........
(C) She told me she thought she had heard () Unless you t?” S SRS
her coming down the stairs. (€] Hyouare guingativaad.:.
(D) She told me she thought I had heard her ks e
coming down the stairs. Column - (B)
8. Change into ) o () .c....whether the match has been
passive voice : postponed
There is no form to reject. (i) wrryou'll need a lot of money.
(A) There has been no form to.get reject. + (iii) w1l O let yOU GO
(B) There is no form that was rejected. (17 J— you would have succeeded.
(C) There was no form rejected. (A) a-(i), b-(ii), c-(iv), d-(iii)
(D) There is no form to be rejected. (B) a-(iv), b-(iii), c-(ii), d-(i)
84. Fill in the blank space in the sentence by (©) a-(ii), b-(ii), c-(i), d-(iv)
choosing the correct form of the verb/tense (D) a-(iii), b-(ii), c-(iv), d-(i)
from_ the given options - 88. Fill in the blank with the correct article :
*As soon as she ... the book, she He works in.......... v LILC. of India.
informed the publisher.” ) (A) zero (B) the
(A) has finished (B) finishes (©) a (D) an
(C) had finished (D) finished 89. Choose the correct alternative from the
85. Match the words in (A) with their synonyms ~ given options to fill in the blank space in the
in (B) : sentence -
(A) Words " “She is ...iriiennean: .than her sister.”
(a) Amend (A) very pretty
(b) Revamp (B) most pretty o
(c) Enhance (C) more prettier m
(d) Diminish (D) prettier
(B) Synonyms 90. Fill in the blank with ,
(i) Rebuild phrasal verb : M "HeTaEat
(ii) Increase How did you........... (comé] that rare
(iii) Reduce diamond? ,
(iv) Modify’ (A) come by
(A) a:(ii), b-(i), c-(iv), d-(iii) - (B) come around
(B) a-(i), b-(iii), c-(iv), d-(ii) (C) come with
(€) a-(ii), b-(i), c-(iv), d-(iii) (D) come down
(D) a-(iv), b-(i), c-(ii), d-(iii)
106-A IJ Page 14 of 16



gl. THHT T’ﬁwjzﬁ T

92.

3. .

84,

b

- BINY —

(A) SR — TTET

(B) 3o — 3fy

(C) arfor — ey

Y p—

T Y gfe ¥ orgAfe Riwer AT —
() gty 4 o — aria
(B)W+§:mﬁﬂ'%
‘°5ﬁﬁm+ga_:ﬁawnfm

©) 3% + 7y = g

97.

98.

fra weg &1 AR w& fpar Tar &2

(A) gaigE = 9 + 9§
(B) ar=IT=1 = 3T + 31

(©) Traivgf = T 4

(D) PRMTT = BRT + w97

wr-faue B gfe ¥ anpfra R o7
TG PIAT —
(A}Wﬁ'ﬂ—m?ﬁ;m-m%m
(B) ST — 1 ¥ S e wh
(©) TR — e & vt sraw

() wrgior — = it a1 g
THA—THY BT gfe F Br—a1 g7 5 75

. ®?

(A) SRepT — Ty

© (B) TR — TR

100. ~

(©) TfR — g'y
(D)qmm—jcng:;
1 3 3 5 Ree & o = oo

- A T I W s QR e

(B) Srawrdt 1 3R Tvs ) sik @y
(C) @nena®) ¥ Wig Iy
(D) qguSlcl E1HR FW ey
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